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02 JIEt& 2% 32,259 26,975 5,284
O WA AMALAETNAINMBS2I(0IZ) 32,259
O HSNH 25,418,000 *1H »14 25,418
O AM2AAIZIZ24E 8,528 x15AI2tx1H x12& 1,536
O XA 26,954,000 *4% 1,079
O Ex322Y 79,030& 12 x12& 949
O s 480
JIEIISE 20,000& 2 x12& 480
O dHZAH| 140,000& x1H »12& 1,680
o112 At b
(2,118, 166 *84%*86%)*1/30% 11 562
O 428 AIgEgZ2 555
nEEE 31,704,000& *1.75% 555
03 BLA(RIHS) 22 XHE % 581,236 616, 167 AN 34,931




fA: IAFE
HE: HYRIFH(UAFED)
Sl ol ) CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
© CCTV &2 At 581,236
O Jle=s(ns 148,372&8 & L&)
9,160 x 191 Al 2t 122 %102%x 1 364,049
O Jl2=Z(FHZAHl, nstl)
190,000 *17H »12& 38,760
O ortzza¢
10,337 & *50%*7 Al 2t x5 x365 66,028
O 5YI24Z(22Y)
10,3373 x150%*7 Al 2k 13 x20 28,221
O 5¢d22+g (52
10,337 & x100%*7 Al 2 x5 x4 1,448
O AXoIMEE
10,3373 «7 Al 2+ x17H %15 18,452
O ZESJH
9,343& *191A| 2t*30%*23| * 18,203
O BdsSHEES 2,710,272&3 x17H 46,075
204 M= F | 1,523 1,523 0
02 Ag 2 Xl 1,523 1,523 0
O g 2=t 1,523
O MZHEHAIMBSR(0Z)
145,000 * 12 #35/40 Al 2t 12& 1,523
04 A3 RE=S 64,949 0 64,949
01 A32E3 26,156 0 26,156
© CCTVZtM AL =213 581,236,000 *4.5% 26,156
02 UAHZ2E S 22,808 0 22,808
O CCTVZtHM AL =248 E 22,808
O CCTVZMAt A2 EE
581,236,000& *3.495% 20,315
O CCTVZHA 2IIR2LEH
20,315,000& *12.27% 2,493
04 SLE(RIAHH22NNELZEIRELSES 15,985 0 15,985
O CCTVENMA NESEREY 3
581,236,000& *1.75% 10,172
© CCTVZtM AL MHTHHEE =
581,236,000 * 1% 5,813
Jl=234l 81,719 80,132 1,587
Jl23Hl 81,719 80,132 1,587
201 £B-2dH| 25,379 23,912 1,467
01 At 22l 23,760 22,320 1,440
O «er==EHl 7,920
IV ES-E=11
(25,0009 *33H «12& )*0.8 7,920
© =&l 15,840
O EZ=A 8,000 *33H x5A! x 123 15,840




SN UAND D
M HY2IZH (UL D)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 1,619 1,592 27
O RURS 1,619
O geted 430 102 «128 52
O slis# 2,5303 x3521 128 1,063
O loT ADLE HI&Y AIAE AMEE
42,0003 +x12& 504
202 oddl 51,360 51,360 0
01 = LH o4 1l 51,360 51,360 0
O Jl=gR=&0
(180,000 *21H *12& )+(50,000& * 10 *12& ) 51,360
203 ¥ S =&l 4,980 4,860 120
04 FANSEH =L 4,980 4,860 120
O RBA2IYRF=2H
(400,000 « 128 )+(5,000& «3H x 128 ) 4,980




